Unit 5

The Endocrine System

5.1.1
Mielőtt elolvasná a szöveget, döntse el, hogy az alábbi mondatok igazak, vagy hamisak:

a/ _____ Insulin is a protein hormone produced in the pancreas by the beta cells of the islets of Langerhans.

b/ _____ Insulin primarily controls the metabolism of carbohydrates.

c/ _____ The lack of insulin gives rise to diabetes mellitus, in which large amounts of sugar are present in the blood and urine.

Diabetes Mellitus

Diabetes mellitus is a syndrome in which the basic defect is absence or shortage of the pancreatic hormone insulin. There are two major types of diabetes- which are thought to differ in their cause, onset and response to treatment.

Juvenile-onset diabetes usually comes on very suddenly with excessive thirst and appetite and an unusually high daily output of urine. In addition to raised blood sugar levels, weight loss is often apparent. These children or young adults are totally dependent on regular insulin injections plus a strict diet to control their blood sugar levels. Unlike the grim fate before insulin therapy became available in the 1920s, however, their life expectancy is not drastically shortened.

 Maturity-onset diabetes has a slower onset, in middle age or later years, and can usually be controlled by diet alone or with special tablets. In fact the mild symptoms of maturity-onset diabetes mean that it often goes unrecognized. In Britain 1.5% of the population suffers from diabetes mellitus, and the number worldwide is rising markedly each year; about 25% of known diabetics need treatment with insulin.

Diabetes runs in families, although there is no simple pattern of inheritance. Close relatives of diabetics stand a two and a half times increased chance of developing diabetes. Recent studies on identical twins have tended to reverse the traditional ideas about the cause. Juvenile-onset diabetes was thought to be mainly genetic, but autoimmune processes and viral infections are now being postulated as causes. By contrast, maturity-onset diabetes was long held to be the result of obesity and other environmental factors; it is now thought to have a stronger genetic basis than the juvenile type. 

A diabetic patient will lose consciousness if the level of sugar (glucose) in his blood is too high or too low. Hyperglycemia can occur in an undiagnosed diabetic or in one who has omitted to take his insulin; this can lead to a very dangerous condition marked by coma. Hypoglycemia is very common and usually results from overactivity, undereating or insulin overdose. It produces sweating, nervousness, weakness, irrational behavior and then rapid loss of consciousness, and, sometimes, it produces convulsive seizures. Sugar given by mouth during the brief period of warning symptoms will prevent the unconsciousness.

Hamlyn: Family Encyclopedia

5.1.2
Olvassa el a szöveget és válaszoljon az alábbi kérdésekre:
a/ What is diabetes caused by?

b/ What are the differences between the two major types of  diabetes concerning onset, age, treatment? 

c/ Is diabetes regarded to be an inherited disease?

d/ What are the most common symptoms of diabetes mellitus? 

e/ What do you think the most common complications of diabetes mellitus can be?

5.1.3
Olvassa el az utolsó bekezdést és keresse meg az alábbi definícióknak megfelelő szavakat:

a/ too much glucose in the blood

b/a state from which the patient cannot be aroused, characterized by an absence both of spontaneous eye movements and response to painful stimuli

c/ too little glucose in the blood

d/ a sudden shaking movement of the body that cannot be controlled

e/ a state like sleep caused by injury or illness, when the person is unable to use his senses

5.1.4
Egészítse ki az alábbi összefoglalót a megfelelő szavakkal:

Diabetes mellitus is a disorder of carbohydrate a/_____________ in which sugars in the body are not oxidized due to lack of the b/____________ hormone insulin. The accummulation of sugar leads to its c/____________ in the blood, then in the d/____________. The symptoms include thirst, loss of e/____________ , and the excessive f/____________ of urine. 
5.2.1
Olvassa el a szöveget és válaszoljon az alábbi kérdésekre:

Which parts of the body are influenced by growth hormone?

What are its main effects in children and adolescents?

How are the long bones affected by growth hormone?

What is the result of the overproduction of growth hormone?

How does growth hormone influence the body's composition?

What is the secretion of growth hormone controlled by?

Growth hormone

Growth hormone (GH) is also called somatotropin or somatotropic hormone (STH). Rather than influencing a specific target organ, it affects all parts of the body that are associated with growth. Growth hormone has its most dramatic effect on the growth rate of children and adolescents, increasing tissue mass and stimulating cell division.

The most direct effect of growth hormone is to maintain the epiphyseal disks of the long bones. If a young person is deficient in growth hormone, there is a marked closure of the epiphyseal disks, the body stops growing, and dwarfism results. In contrast, if the secretion of growth hormone does not decrease toward the end of adolescence, as it usually does, giantism occurs, and the person continues to grow to 7 or even 8 ft tall. When growth hormone is overproduced after normal growth has stopped, a condition called acromegaly occurs, with bones in the head, hands, and feet thickening rather than lengthening.

Growth hormone stimulates the growth rate of the body cells by increasing the formation of RNA, which speeds up the rate of protein synthesis. At the same time, growth hormone decreases the breakdown of proteins. It also causes a shift from the use of carbohydrates for energy to the use of fats. By increasing the use of the body's adipose tissue to produce fatty acids, and decreasing the body's use of glucose, growth hormone conserves carbohydrates. The overall effect is a change in the body's composition, so that muscle mass is increased, and deposits of fat are decreased. When blood glucose levels are increased by growth hormone, the result is hyperglycemia. This so-called diabetogenic (''producing diabetes'') effect is misleadingly similar to diabetes mellitus.

The secretion of growth hormone is controlled by two factors produced by the hypothalamus and transported to the adenohypophysis. These are growth-hormone releasing factor (GHRF) and growth-hormone inhibiting factor (GHIF). GHRF was finally isolated and artificially reproduced in 1982 by researchers at the Salk Institute in La Jolla, California.
R. Carola-J.P. Harley-Ch.R.Nobach: Human Anatomy and Physiology, McGraw-Hill Inc., 1990

5.2.2
Egészítse ki az alábbi mondatokat a megfelelő szavakkal a szöveg alapján.:

a/ Dwarfism means abnormally ___________ stature. It may be caused by a ____________ of growth hormone __________ to a defect in the pituitary gland.

b/ Giantism occurs if the ___________ of growth hormone further ____________ toward the end of teenage years. 

c/ Acromegaly is a result of the ____________ of growth hormone in which the ___________ of the head and the  ____________ thicken.

5.2.3
Alkosson mondatokat a megadott szavakkal a minták alapján:

Growth rate is controlled by the presence of GH in the blood.

GHIF inhibits the release of growth hormone from the pituitary gland..

hypothalamus(GHIH,GHRF release), anterior pituitary gland(GH release), growth hormone, growth rate

is controlled by

is determined by

depends on

promotes

inhibits

is directly proportional

is inversely proportional

5.3.1
Olvassa el az első bekezdést és válaszoljon az alábbi kérdésekre:
What is ADH composed of?

How does it influence the kidneys?
How does it influence urine production?

What does it regulate in the  whole body?

What can it stimulate?

How does it affect blood pressure?

Antidiuretic hormone

A diuretic is a substance that stimulates the excretion of urine, whereas an antidiuretic decreases urine excretion. Antidiuretic hormone (ADH), or vasopressin, is a peptide composed of nine amino acids. Its major role is to increase water absorption in the collecting ducts of the kidneys (kidney tubules) so that less urine is excreted. Thus, it plays a critical role in the overall regulation of the body's fluid balance. It can also stimulate the contraction  of smooth muscles in the arterioles, small blood vessels that connect the arteries to capillaries. As a result of the action of ADH, blood vessels constrict, and blood pressure rises.

The main target organs of ADH are the kidneys. It works by increasing the permeability of the kidney tubules, thereby allowing water to be reabsorbed rather than excreted. Such a regulating mechanism is important if the body becomes dehydrated for any reason. For example, hemorrhaging causes an increase in ADH secretion so that the body's balance of fluids is maintained. Emotional and physical stress, increased plasma osmotic pressure, decreased extracellular fluid volume, very strenuous exercise, and drugs such as nicotine or barbiturates all increase the secretion of ADH, which in turn produces a rise in blood pressure and an inhibition of urine formation.

The secretion of ADH is decreased by a drop in plasma osmotic pressure, by increased extracellular fluid volume, or by increased alcohol levels. If you consume large quantities of beer, for example, you will stimulate urine excretion, not only because you increase the liquid content of your body, but also because the alcohol in the beer inhibits the secretion of ADH, which results in an increase in urine excretion. In addition, another component of beer, lupulin from hops, is a diuretic.

A deficiency of ADH results in a disease known as diabetes insipidus. Without sufficient ADH, large volumes of dilute urine are excreted, usually about 5 litres a day, typically leading to dehydration and constant thirst.
R.Carola-J.P.Harley-Ch.R.Nobach- Human Anatomy and Physiology, McGraw-Hill Inc., 1990

 5.3.2
Egészítse ki az alábbi mondatokat a megadott szavakkal:


therefore
thus


as a  result
thereby
a/ ADH can stimulate the contraction of smooth muscles in the arterioles. ___________ blood vessels constrict.

b/ If there is a lack of water in the body, more ADH will be released into the blood. __________ less urine will be produced.

c/ If there is an excess of water in the body, less ADH will be released into the blood __________ increasing urine production.

d/ Alcohol inhibits the secretion of ADH __________ increasing urine excretion.

5.3.3
Egészítse ki az alábbi táblázatot a megadott főnevek igei alakjával:

	absorption
	

	inhibition
	

	formation
	

	consumption
	

	stimulation
	

	secretion
	

	excretion
	


5.4
Olvassa el a szöveget és oldja meg a hozzátartozó feladatokat:

HRT - The New Smart Option
A new hormone replacement therapy (HRT) has just been launched, which protects against osteoporosis and heart disease without increasing the risk of breast cancer - a problem with previous HRTs. It's called SERM (selective oestrogen receptor modulator) and as research suggests it may reduce the risk of breast cancer.

Oestrogens used in standard HRT act anywhere in the body, which means they keep the heart and blood vessels healthy and slow down bone loss, which can cause osteoporosis. But they also stimulate breast tissue which, after five to ten years, slightly increases the risk of breast cancer.

SERM, however, works like standard oestrogens on the bones and heart, but like anti-oestrogens in the breasts and uterus - which means it doesn't increase the risk of breast and endometrial cancer. But be aware that this new HRT does not help menopausal symptoms - so if you want to get rid of hot flushes and vaginal dryness, this is not the drug for you.

The only SERM produced so far is raloxifene and it's currently only licensed to prevent osteoporosis. Studies show it reverses post-menopausal bone loss and may even increase bone density by one to two per cent, which should prevent hip and wrist fractures later on. But the new SERM does have some side-effects. These include hot flushes and leg cramps, which are usually short-term, and there is also a small increase in the risk of blood clots, similar to that seen with conventional HRT.

Top Santé, November, 1998
Feladatlap

1. Válassza ki az egyedüli helyes állítást a szöveg alapján, húzza alá a megfelelő mondatot. (Válaszmódosítés esetén az adott kérdésre adott válasza érvénytelen.) (1 pont)

Patients treated with conventional HRTs have been unlikely to develop breast cancer.

Patients treated with conventional HRTs have been less likely to develop any cancers.

Patients treated with conventional HRTs have been prone to develop breast cancer.

Patients treated with conventional HRTs have a tendency to develop all cancers.

2. Egészítse ki az üres helyeket a szöveg alapján egy megfelelő, de nem feltétlenül a szövegből vett angol szóval. (Válaszmódosítás vagy vonalanként egynél több szó beírása esetén válasza érvénytelen.) (4 pont)

Oestrogens have an important role in maintaining the proper functioning of the cardiac as well as the ..........................system. When these hormones are adequately replaced in conventional HRT, a smaller portion of bones will be......................................., which will .....................................to fewer osteoporotic cases. On the other hand, these oestrogens will still cause ............................................ risk of breast cancers.
3. Döntse el a szöveg alapján, hogy a következő állítások igazak, vagy hamisak. Húzza alá a megfelelő szót. (Válaszmódosítás esetén az adott kérdésre adott válasza érvénytelen.) (2 pont)
Most menopausal symptoms can be avoided using the revolutionary SERM.

True



False

Unfortunately, this new drug causes vaginal dryness.


True



False

4. Válassza ki a szövegből a megfelelő szót az alábbi definíciókhoz. (Válaszmódosítás vagy vonalanként egynél több szó beírása esetén válasza érvénytelen.) (3 pont)

permitted or authorized by the government to do something -

the compactness of a substance (eg, of bones, tissues) -

coagulated blood -

5.5 Fordítsa angolra az alábbi szöveget: 

A pajzsmirigyműködés szabályozása

A pajzsmirigy működése a TSH, a hypophysis thyreoidát stimuláló hormonjának befolyása alatt áll. Gyakorlatilag a pajzsmirigyhormon-szintézis és -leadás valamennyi lépésének szabályozásában részt vesz. A TSH-szekréciót a hypothalamus felől a TRH szabályozza.

A TSH-szekréció szabályozásában negatív feedback érvényesül. Amennyiben a periférián az aktív pajzsmirigyhormonok - tiroxin (T4) és trijód-tironin (T3) - mennyisége a vérben csökken, fokozódik a TSH-szekréció. A negatív visszacsatolás döntően a hypophysisben történik, kisebb mértékben a hypothalamusban. Ha a pajzsmirigyhormonok szintje a perifériás vérben emelkedik, ez visszahat a hypophysis TSH-, valamint a hypothalamus TRH-szekréciójára. A hypothalamus felől a TSH-szekréció legfontosabb szabályozója egy tripeptid, a TRH. Ez egyike a legkorábban izolált hypothalamusfaktoroknak, amely a hypophysis trophormonjának a szekrécióját befolyásolni tudja. A portális érrendszeren keresztül jut le a hypohysisbe, ahol serkenti a TSH szekréciót. A TRH azonban nemcsak a hypothalamusban, hanem az agyban extrahypothalamicusan, továbbá a gastrointestinális traktusban, a pancreasban és más perifériás szövetekben is előfordul. Extrahypothalamicus funkciója nem teljesen ismert. Úgy tűnik, hogy a TRH extrahypothalamicus idegrendszeri területekben neurotranszmitterként és/vagy neuromodulátorként is számításba jöhet.

Szollár Lajos: Kórélettan, 1996. Budapest, Semmelweis Kiadó, 419. oldal
5.5.1
Fordítsa angolra az alábbi birtokos szerkezeteket a minta alapján:

a pajzsmirigy működése= the function of the thyroid gland

a/ a hypohpysis hormonja

b/ a pajzsmirigyhormon-szintézis és -leadás valamennyi lépése

c/ a pajzsmirigyhormonok  mennyisége

d/ a pajzsmirigyhormonok szintje

e/ egyike a hypothalamusfaktoroknak

f/ a trophormon szekréciója

g/ idegrendszeri területek= az idegrendszer területei

5.5.2
Fordítsa angolra az alábbi jelzős szókapcsolatokat a minta alapján:
thyreoidát stimuláló hormon= thyroid stimulating hormone
a/ negatív feedback 

b/aktív pajzsmirigyhormonok

c/ a legfontosabb szabályozó faktor

d/ a legkorábban izolált hypothalamusfaktorok

e/ a portális érrendszer

f/  a gastrointestinális traktus

g/ perifériás szövetek

h/ extrahypothalamicus funkció 

i/ extrahypothalamicus területek

5.5.3
 Fordítsa angolra az alábbi határozószavas kifejezéseket a minta alapján:
nemcsak a hypophysisben , hanem a hypothalamusban is
not only in the pituitary gland but also in the hypothalamus
a/ nemcsak a portális vénákon keresztül, hanem a kapillárisokban is

b/ nemcsak az agyban, hanem a pancreasban is

c/ nemcak a szabályozásában, hanem a szekréciójában is

d/ nemcsak a perifériás vérben, hanem a perifériás szövetekben is

5.5.4
Fordítsa angolra az alábbi mondatokat szenvedő szerkezetű igékkel a minta alapján:

A pajzsmirigy működése a TSH befolyása alatt áll.= The function of the thyroid gland is influenced by TSH.

a/ A TSH szekréciót a hypothalamus felől a TRH szabályozza.

b/ A TSH-szekréció szabályozásában negatív feedback érvényesül.

c/ A TRH serkenti a TSH szekréciót.

d/ Extrahypothalamicus funkciója nem teljesen ismert.

5.6
Írjon hivatalos levelet 150-200 szó terjedelemben. Ügyeljen a hivatalos levél formai követelményeire és térjen ki minden megadott szempontra úgy, hogy a levél egységes szöveget alkosson.

Ön dr. Varga Bálint, egy nemzetközi szakmai szervezet (Danubian Health Organization) elnökségi tagja(chairman of the Hungarian branch of the DHO). Írjon körlevelet a tagintézetek munkatársainak, elsőként pl. lengyel kollégájának (J. Kopecky MD, 24 Jaruzelsky St., Krakow PL-64533, Poland).

- hívja meg kollégáját a szakmai szervezet soron következő éves gyűlésére

- közölje, hogy az idei találkozó témája az AIDS elleni küzdelem

- írja meg, hogy a rendezvényt Magyarországon tartják, a PTE-ÁOK szervezésében

- adja meg a kongresszus pontos idejét : 2005. május 4-7.

- tájékoztassa kollégáját, hogy az előadásokat és tanácskozásokat (workshopok) péntek és szombat délelőttre tervezik

- kérje meg kollégáját, hogy részvételi szándékát április 14.-ig jelezze, és adja meg előadása témáját

- utaljon arra, hogy további szervezési kérdésekkel kapcsolatosan (pl. szállás, társasági események) később küld tájékoztatót

- köszönjön el és kívánjon további jó munkát 

5.6.1
Fordítsa angolra az alábbi jelzős szerkezeteket a minta alapján:

soron következő éves gyűlés= the next annual meeting

a/ idei találkozó 

b/ nemzetközi szervezet

c/ szakmai szervezet

d/ pontos idő

e/ részvételi szándék

f/ szervezési kérdések/részletek

5.6.2
Fordítsa angolra az alábbi szenvedő szerkezeteket a minta alapján:

a kongresszust májusban fogják tartani= the congress will be held in May

a/ a PTE-ÁOK lesz a találkozó házigazdája

b/ az előadásokat pénteken fogják tartani

c/ a következő problémákat vitatjuk meg

d/ időben informáljuk Önt

e/ további részletekről később küldünk tájékoztatót

5.6.3
Állapítsa meg az alábbi mondatok meghívő levélen belüli helyes sorrendjét:

a/ The meeting will take place at the University of Pécs in Pécs.

b/ Further information can be obtained by visiting our website.

c/ Please, indicate whether you will be able to attend or give a presentation.

d/ Participants will be able to choose from a wide variety of workshops.

e/ It is my pleasure to invite you to this year's meeting of immunologists.

f/ This year's meeting will be focusing on AIDS on a global scale.

5.6.4
Válassza ki azokat a mondatokat, amelyek nem használhatók hivatalos levélben:

a/ We would be honoured if you could attend the meeting.

b/ Your presence would be appreciated at the meeting.

c/ I'd love it if you could come to the meeting.

d/ You are invited to attend the meeting.

e/ I cordially invite you to the meeting.

f/ I'm writing to invite you to the meeting. 
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